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Correct the sentences ¢
a) He did asin
¢ Know the true lacl

¢) Babu 1s competing to me for the post
Fill in the blanks www.prebd.com

a) Twishl
b) Would you
c)llancy | S

d) | have such a friend _:___—__ )

¢) No one can

— it

_a kg

b) He went 1o ..'nllq.;l_rl: it his ool

d) One thirds of the workers are present

___having a cup ol 1ea?

_atnfle pale
__Yuou

~ that he s clever

Make sentences with idioms and phrases

i) A fool s paradise
¢) In the long run
¢) White elephant

Translate into English

b) Bone ol contention
) Out and out
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